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SECTION A - Multiple Choice Questions {20 MARKS)

Questions 1 to 10 carry 2 marks each.

f-or each question, four options are given. COne of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correci oval (1.2, 3 0r 4)on the
Optlical Answer Sheet (OAS).

1. What is the maximum number of ways can you arrange using the
digils: 2, 4 and 8 to form 3 digit number(s)?

(1) '1
(2) 2
3) 2
(4) 6 -

2. Find the product of 7 tens and 70 ones.

(1) 140
(2) 490
(3) 4900
(4) 7070

3. _ Whatis the perimeter of the figure below?

8 cm
(1) 12cm
(2) 28cm
{(3) 56cm
{4) 160 cm

4. A square garden has a perimeter of 36 m. What is its area?

(1) 6m?
(2} 16m?
(3) 36m?
(4) 81m?




-

i
2 + — is the same as

The table below shows the starting and ending time of 4 activities on

one Friday.
Activiiy A Activity B Activity C Activity D
Starting 1255pm. | 12.00p.m. | 10.10am. | 955am.
Time
Ending 125pm. | 1.05pm. | 11.00am | 10.10am
e

Which activily last the longest?

(1Y A
{2) B
3y C
(4) D

18 x 5 is the same as

(1} 205
(2) 1x8x5
(3) 2x5x9
(4) 10%x8x5




.3 3 3. 3
Whal is g " g * 8 + 8?

(1) 43

1
(2) 15

12
32
(4y 11
2

(3)

The table below shows the time taken for an cbiect to trav

to another point without resting.

Points Time taken (hr)
AtoB 2
3
BtoC 5
| 6 _
CtoD 1
12

el from one point

Whal is the total time taken by the object to move from point A to D?

/
1 1—- hr
(. 12
1—1
@ L
1
8
3) - hr
-{__( ) 12
' 8
4) -— hr
(4) 57

4%}




10.  Which one of the triangles below is isosceles?
Figures are not drawn to scale.

(1) (2}

59 407

{3} (4)

39°

202

102°

50°
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SECTION B - Short Answers (40 MARKS)

Questions 11 to 30 carry 2 marks each. Show ali workings clearly.

Write your answer in the space provided. Give your answers in the units siated
and in its simplest form whenever possible.

1. Find the remainder when 5702 is divided by 6.

Answer:
2. What is the value of X on the number line? T
‘{‘—f S N N SR S I
AN IR SR B B BN R )
2l X 4
2
Answer:

3. Whatis the smallest odd number that can be divided by 5 leaving a
- % remainder 37

Answer:




The table below shows the number of pupiis taking different types of
transport home after a swimming lesson. Use the information to answer
questions 14 and 15. '

| Popils Boys Girls
Takes® | 14 12
[ school
bus
Takes 10 16
-public
transport

i4. How many pupils\are there altogether?

Answer:

15.. What fraction of the pupils takes school bus?

Answer:




The bar graph shows the number of trays of eggs sold on 5 days. Use the

information fo answer question 16 and-17.

30
Number 24
of trays
'EFeggs
“18
12
6 A I .
O ——- Jr T ™ T ¥
Mo Tues Wed Thurs Fri
6. -

What was the iotal number of trays of eggs sold on the 5 days?

Answei:

Days

17. If each tray containgd b eggs\ how many eggs were sold on('v\lednesdaﬁ

Answer:




18.  How many right angles are formed by the minute hand on a clock if it
moves for 1 h 30 min?

Answer:;

18.  How many pair(s) of parallel lines is / are there in the figure helow?

\ |

/
N/

) Answer: -
20.  What is the perimeter of the figure below? _
8 cmT
. k< —>
14 cm
Answer: cm

21. What is the product of the largest factor of 7 and the fargest factor of 20087

Answer:




22.  There are 56 apples In a basket. % of them are green and the rest are red.

How many red apples are there?

Answer:

23. James is twice as old as Ben. Ben is twice as old as Clara. if Clara is 11
years old, how old is James?

Answer:; years old

24, Ali bought 7 computers at $2108 each. How much did he spend altogether?
Round off your answer to the nearest hundred.

Answer. §

25. . A number has 6 factors and is divisible by 9. it is also smaller than 30.
-What is the number?

Answer:




26.  Mr Wong bought 6 television sets for a total cost of 35604 _How much did
each sel cost?

Answer: $

27. The diagram below is made up of 3 straight lines AB, CD and EF

Crossing
each other. Given that Z yis 65° find 2 x.
E C
x
y
A J——’--—— B8
D F
Answer: °

28. Whatis 409 x 277

Answer:

10




Z29. Express 40 cm as a fraction of 2 m.

30. The diagram below shows a square plot of tand containing 9 squage

gardens.
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CELLIEOLIL PP P rp i,
CELELOI LTI PRSI,
PEOIPIPI LI 2 pr 02,
AL Rt P
LA LT IV VP I TIIFY
AELTBIRIE ISt F S
LI TR YV I I TIPS
SRS AP AIIEIE S,
LSRRI r R 1t 02,
LSS A AP,

FLIEIELEIIPPILE PP IS

[T I EN IR
(LTI TTITIVIII IV
(27T ITII I VI IIIYE
PO S P FES S
PO TITI VYIS NIIIIV IS
IR NI I ITIVIIII IV

LA ST VYNV
L srrrirerrearsrsores.
PIIIY I NIV VIV IVIS
PO IIIIIO L
LS ILILEPFPIIETE PP
Vorrrsrereerisresisy,
TP O TN
rrs, wrrrsed

SESILLEIILIC L7 2 I

rrred
AL ALE LI ESEELL

SRR prr et e e
SN AN I IITITIIIIIITS

CRLLICE LI O 2T  r s s
SO e, At rey ors
[ttty (LTI II T VTEVIVYYS VITYSTIVRTVPrrryrrrrs
P T I Y YISy e
FFELILILIL I i Pt 2 0 E e R h PP bt pe Prravs, FIIEFIP RIS IAEI I
wrrrirersiseraeeriee R o e

RETF Y ITTINIIIY ilersr . (2R rrrrrrss
rralerersrerrrerireel o rr A o

SELEILIP I ORI OIS,
(LI IO I TIT I IS

FRESIIIECIR IR I LI LR ES
ALII ORI I 2515

(e et Y L TV I
PN TN IV VNI II VI

PITIIIIIIIIIVIVITIVVE
7

PP ELELILPIIPEELT Y.

rarnrp sl
(LIS T T TRV
SIS ELTIE IS IR r PP 2,

s
VA LIIL LIRSS

FIELIFLIIRLP 2 P10 070

e IO TTPIVIIY)
PRIy PR LYV
SLLELLIIP ISR 02 T2 P
FECPPP L P Lerrsiesrr,
CREROr L s py rr e er

PEPE ISP I pr i rr

o

sarrreris
LI TSV
strritrirrerrrrer ol

LTI I I I NI I
s,

LTI DI TIIIIIIIRY
UL IR

1.

15 m

bl |

What is the area of each square garden?

11

Answer;

Answer:;

mZ



SECTION C - Problem Sums (40 MARKS)

For each question from 31 to 40, show your working and mathematical
staiements clearly in the space below each question. Write your answer in the
answer space provided. Give your answers in the units stated and in its simplest
form whenever possible. Marks awarded are shown in the brackets [ j.

31. Yanming bought i magazine, 1 book and 1 pen. The magazine cost $5.

" The book cost $31 more than the magazine. The pen coslt twice as much as
the book. How much did she spend on the three things?

Answer: [4]

32. Jeremy has 206 stickers and Kelly has 78 stickers. How miany stickers must
Jeremy give io Kelly so that they have the same number of stickers?

Answer:; {4}

12




33. The total mass of 3 packels of peanuts and 3 packets of muesli i3.825 g.

It a packet of peanuts is 25 g tess than a packet of muesli, what is thenifass
of 1 packet of peanuts?

- Arniswer” 4]

34.  Yedev has a 2-fitre container full of water. He poured 1 41 litres out and

divided the remaining amount of water equaily into 6 smaller containers.

How much water is in each of the smalier containers?

Answer:; [4]

13



35. Casey had 5 times as many cards as Eddy. After Casey has given 56 cards

to Eddy. both of them have equal number of cards. How many cards do
beth of them have altogether?

Answer: {31

36.  Study the composite figure below. Rectangles A and B are of the sa

me
size. Each recfangle can fit 2 of square C exactly.

.42 cm

- feo
I

N

* Find the area of the composite figure.

Answer; {4]

14




37. Jamal took %— of a day {o carve a sculpture. Gavin took —?{ of the time taken

38.

by Jamal. How much faster did Gavin take than Jamal to carve the

sculpture? (Take 1 day = 24 hr)

1
H

- Answer: {4

An equal number of boys andTirls tonk part in & competition. In theMirst

round, — of the girls and = of the bovs w. eliminated. If 6 qirls remained
P g 3 Cys were g a

" in the competition, how many boys weregeliminated?

Answer: - [4]

15



. 1
38 Abasket when filled with 12 boxes weighs 2% kg. If each box weighs 5 kg.

what is the mass of the basket?

Answer: [4]

16




40. Study the pattern below and answer the questions that folicw.

Row

Number of stick(s}

Wi~ BN ]~

(@) How many siicks are there in row 20 oniy?

- Answer:

{b) How many sticks are there in row 50 only?

Kiiswer:

i1l

I}

(€) Ifthere are 4 slicks inrow 4, 6 s{ic:;\s i row 10 and 8 sticks in row 16,
how many sticks are there in row 34 only?
You may use the tabie below to help you.

Row 4 10 15
Number
of 4 6
sticks
Answer:
- End of Paper —
Setler: Mr Wan

Vetlers: P4 Math leachers

17

(2]
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32)206-78=
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33)25x3=75
825-75=750.
750+6=125

The mass of 1 packet of peanuts is 1259 e

*‘n—ﬁ_‘wﬁv

Area A —)14x14— 19
Angé B —>1z§<14
% 214x14=196
Are D % 4)&4 19?
Area E —)14x 14=196
Total area"919 5 980

The areais 980Cl'l'l2

Gavin—> 34 x8%24
Eex

8-6=2 3
Gavin took 2 hours less.
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38)1

= 1/4

mated

i

=5 TS
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